FETEEXRANAOR EHI0E10A1 BEE
(B2 A
X% BT 4 E:] E=S F HEE
TE#HX |[&FE 2,918 2,786 5,704 2,522
(F%ERX) (&EETH 480 532 1,012 443
i) 1,593 1,700 3,293 1,491
= AHT 482 570 1,052 495
HET—TH 735 767 1,502 742
HBRT—TH 676 607 1,283 618
ZT5—1H 1,151 1,126 2277 1,144
25 _TH 1,194 1,200 2,394 1,072
ZTE5=TH 647 667 1,314 584
KHET 876 795 1,671 795
BROH 1,086 1,012 2,098 837
BHT 1,740 1,735 3,475 1,375
IE = 1,424 1,406 2,830 1,145
—VE—RX 1,268 1,320 2,588 1,076
—YEZRX 1,268 1,320 2,588 1,069
BIE 1,146 1,222 2,368 977
AB—-—TH 752 774 1526 727
AB=-IUTH 928 1,031 1,959 941
ABTHE-NTH 1,425 1,436 2,861 1,220
ZEH 2117 2,147 4264 1,803
ME—TH 1,107 1,246 2,353 1,151
ME_TH 905 1,010 1,915 844
HME=TH 510 545 1,055 519
HMEMTH 599 638 1,237 588
{E—TH 410 440 850 432
NE_TH 413 497 910 434
ELXR 483 477 960 456
ETRHH 859 951 1,810 874
e 309 341 650 374
15 B P i 235 250 485 283
L ERM# 234 257 491 224
VYI14T7 LR 479 565 1,044 508
IN—=DFE 576 610 1,186 549
LyY LR 128 160 288 136
24— )T7LE 459 484 943 326
I—TFARDY 268 308 576 270
ELyDN\DR EERIER 107 131 238 96
FE#HXET 31,987 33,063 65,050 29,140
EAMX  |FEm 179 177 356 150
(BEHBRX) |TE 557 521 1,078 437
B 224 226 450 200
#TH 1,179 1,198 2,377 977
L% 1,162 1,240 2,402 1,134
EARHEAR 478 593 1,071 551
L FARER 229 209 438 187
AEIX 55 44 99 41
LU [ b 136 238 374 165
EAHXE 4,199 4,446 8,645 3,842
EmitX  |F—X 1,100 1,099 2,199 954
(BHBRX) |[EZKX 469 473 942 405
F=ZX 430 418 848 360
FEHX 976 999 1,975 858
EXa 1,128 1,035 2,163 1,010
FRX 3,121 2,943 6,064 2,641
FEX 2,086 2,005 4,091 1,725
EFIN= 2,340 2,309 4,649 1,836
FAX 4,120 3,953 8,073 3,477
FT+X 556 594 1,150 491
B[4S 601 509 1,110 462
Rt XEt 16,927 16,337 33,264 14,219
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TRE30E10A1 IR (B2fn F)

X% B £ 5 = g HE
KAEHE /Mg 4,439 4,534 8,973 3,358
(BE#ERX) | 774 812 1,586 632
2k 155 118 273 91

iR 648 639 1,287 504

HPEK 2,476 2446 4922 2,094

hE 2,755 2,754 5,509 2,284

ALk 2,871 2,919 5,790 2,623

Gin /1 1,161 1,217 2,378 1,047

IN R R ER 1,359 1,422 2,781 1,153

IN B TR ER 995 964 1,959 897

B B AR 463 467 930 422

S AR 103 111 214 84

B S #H 204 204 408 169
BIEE 189 179 368 158

EE L 652 591 1,243 534
e 203 201 404 179

=# 868 972 1,840 835
-39y 283 300 583 271

RE 1,887 1,802 3,689 1,526
KAHKE 22,485 22,652 45137 18,861
LFHX |HA 1,351 1,257 2,608 1,131
(BEHBRX) [EDQTF 970 972 1,942 749
9B 2,443 2,403 4,846 2,104

HEDK 625 641 1,266 554
LEFRF 990 963 1,953 786

AR 695 731 1,426 560

Fiic] e ] 1,259 1,303 2,562 1,005

521 434 416 850 341
BEHEF 255 266 521 209

T#E 355 331 686 284

Jt it 75 65 140 53

¥TH 191 176 367 170

I 246 224 470 210

BITA 195 235 430 187

T3] 1,107 1,126 2,233 894

R 1,664 1,705 3,369 1,381

TFF 567 565 1,132 479
ELYC/NHRER 115 133 248 145

L EFE—Hih 179 200 379 164

Lo ldEMh 512 587 1,099 560

FmET 859 849 1,708 702
LEHXET 15,087 15,148 30,235 12,668
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T RE30F10A 1 HIRAE (A2t F)

X% BT 4 E: E=S &t HEE

KX  |HhEEA 933 912 1,845 789

(EHBRX) |ETH 1,332 1,374 2,706 1,060

55 1,981 2,002 3,983 1,699

SR 524 533 1,057 478

ML 3,668 3,635 7,303 3,060

KB ARH 2,058 1,986 4,044 1,620

1R 15 254 201 455 192

RakiEan 747 731 1,478 606

P I 305 314 619 246

AErF—X 1,856 1,848 3,704 1,631

AEF_X 727 731 1,458 590

1| 721 774 1,495 605

P U5 [ 1 121 119 240 106

KA XET 15,227 15,160 30,387 12,682

Hihith X  |[RrhEih 1,270 1,374 2,644 1,605

(BF%ERX) |EWLEHi 1,328 1,425 2,753 1,706

ALEF—Hih 2,571 2,929 5,500 3,163

mEEFE =M 2,337 2514 4,851 2,789

[ #h 3h X £+ 7,506 8,242 15,748 9,263

(FERX)

| & & | | 113,418 | 115048 | 228466 | 100,675 |
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